537muf Marshmallow Muffler

Suggested yarn:
* Pierrot Yarns Fine Mall [100% nylon; 53 yds/48m per 1.41 0z./40g skein];
+ version A (pink): color #86 love pink, 4 skeins [150g]
+ version B (blue): color #89 dream blue, 4 skeins [150g]
* Pierrot Yarns Hokkori Acryl [100% acrylic; 66 yds/60m per 1.76 0z./50g skein];
+ version A (pink): color #07 grape, 1 skein [40g]
+ version B (blue): color #13 tangerine, 1 skein [40g]

Tools/Notions:
+ 5.7mm (approx. US 9) double-pointed knitting needles or size necessary to achieve gauge

Finished measurements:
* width 38¢cm/14.96"
+ length (excluding pompoms) 133cm/52.36"

Gauge (10cm/4" square):
« stockinette stitch: 9.5 sts and 15 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively,
rework pattern with your own gauge measurements.

Knitting Tips
Scarf: Cast on with long-tail cast-on method. Work in stockinette stitch in the round. Thread yarn through all remaining
stitches; cinch shut tightly. Thread yarn through cast on edge and cinch it tightly as well.

Finishing: With Hokkori Acryl, make 2 pompoms, each measuring 6¢cm/2.36" in diameter. Seam one pompom to each
end of scarf.

Abbreviations:
CO =caston
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Scarf (Fine Mall) L
Finishing

Thread yarn through all remaining
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(Use Hokkori Acryl.)

’\// Seam pompom to end.
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Wrap Hokkori Acryl 100 times around
a piece of cardboard 7cm wide.

/i % For smaller children, reduce number of stitches from 36

\ = to a smaller number, thus reducing the width of the scarf.
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Pompom instructions

Wrap 100 times. Cut after securing center.
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